
INSTALLATION INSTRUCTIONS: SYSTEM HOLE INSTRUCTIONS

12400 Earl Jones Way 
Louisville, KY 40299 
rev-a-shelf.com 
Customer Service: 800-626-1126

SYSTEM HOLE INSTRUCTIONS

TOOLS REQUIRED:

15 MIN
ESTIMATED ASSEMBLY TIME:

CARE AND MAINTENANCE:

Clean with a damp cloth and 
wipe parts dry.

I-SHSS-0619

WATCH TUTORIALS OF OUR  
PRODUCTS BEING INSTALLED

WWW.REV-A-SHELF.COM/VIDEOS

Parts List

No. Description Qty

A 1/8” Blum Spacers 4

B M5 x 11MM Flat Head Euro Screws 4

C M5 x 14.5MM Flat Head Euro Screws 4

Frameless Side Wall 
Thickness

Corresponding 
Euro Screw

Corresponding Blum 
Spacer

3/4” M5 x 11mm N/A

5/8” M5 x 14.5mm 1/8”

B.

C.

A.

3/4”

5/8”

No Blum spacer and 
M5 x 11mm Euro Screws 

1/8” Blum spacer and 
M5 x 14.5mm Euro Screws 

PZ2

* If system holes do not line up, use the included screws in place of the Euro screws.



2
INSTRUCCIONES DE INSTALACIÓN: INSTRUCCIONES PARA EL ORIFICIO DEL SISTEMA 
LES INSTRUCTIONS D’INSTALLTION: INSTRUCTIONS POUR LE TROU DU SYSTÈME

12400 Earl Jones Way 
Louisville, KY 40299 
rev-a-shelf.com 
Customer Service: 800-626-1126

INSTRUCCIONES PARA EL ORIFICIO DEL SISTEMA / INSTRUCTIONS POUR LE TROU DU SYSTÈME

15 MIN

I-SHSS-0619

Lista de partes / Liste des pièces

No. Descripción / Description Qty

A 1/8 “ espaciadores marca Blum 
Cales Blum de 1/8 po

4

B Tornillos Euro cabeza plana M5 x 11 mm 
M5 x 11MM Vis à tête plate Euro

4

C Tornillos Euro cabeza plana de 5 x 14,5 mm 
M5 x 14,5MM Vis à tête plate Euro

4

Grosor de pared lateral sin marco 
Épaisseur de la paroi latérale sans cadre

Tornillo Euro correspondiente 
Vis Euro correspondante

Espaciador Blum correspondiente 
Cale Blum correspondante

3/4” M5 x 11mm N/A

5/8” M5 x 14.5mm 1/8”

B.

C.

A.

3/4”

5/8”

No Espaciador Blum y tor-
nillos Euro M5 x 11 mm
Pas de cale Blum et vis M5 x 
11 mm Euro

Espaciador Blum de 1/8 “y tornil-
los Euro M5 x 14.5mm
Cale Blum 1/8 po et vis M5 x 
14,5mm Euro

PZ2

*Si no se alinean los orificios del sistema, use los tornillos incluidos en lugar de los tornillos Euro.
*Si les trous du système ne sont pas alignés, utilisez les vis fournies à la place des vis Euro.

INSTRUCCIONES DE INSTALACIÓN / LES INSTRUCTIONS D’INSTALLTION

HERRAMIENTAS REQUERIDAS:
OUTILS REQUIS:

TIEMPO ESTIMADO DE ENSAMBLADO:
DUREE ESTIMÉE DE L’ASSEMBLAGE:

Limpie con un paño húmedo y 
seque las partes.

Nettoyez avec un linge humide et 
essuyez les piéces pour les secher 
complétement.

CUIDADO Y MANTENIMIENTO:
ENTRETIEN ET MAINTENANCE:

VER VIDEOS DE
INSTALACIONES DE PRODUCTOS

REGARDER DES VIDÉOS
D’INSTALLATIONS DE PRODUITS

WWW.REV-A-SHELF.COM/VIDEOS


